Classical Circuit VS. Quantum Circuit Any boolean function f: { c 13 ~ fo, 13 can be comparted by a reversible quantum circuit. O The NAND gate is universal for classical circuits and acts as below. ABQ 001 011 101 101 A-D-Q NAND gate is not a reversible gate: whe Q =]. We do not know what exact values for in put A and B. 2) We can perform the same operation using a Toffol' gote. (CCNUT goute). Toffoligate is knum as universal for classical Circuits, not yet for quantum circuits, Recall: Tothel: can be constructed with 2+1+77+6C/VUT

Any pooleon function
$$f: fo, 13^{m} \rightarrow fo, 13^{n}$$
 can be
effected by a reversible quantum circuit.
Effectently: #Gostes: 1 NAND \rightarrow 1 Toffo Li
inputs: $n \rightarrow ?$ # gostes + #ipt
Theoretically, the mininum number of extra imputs
we need to use indeed is 1.

$$O A = how many different binary functions are therethat can take n-bit imputs and give n-bit output?
$$A = (2^{n})^{2^{n}}$$

Think of the truth table $\ddagger different output = 2^{n}$
for each now$$

 $B = (z^{n})!$ 2ⁿ # input # output key () If x + y =) fix) + fiy) in other words. fixs = figs implies x=y. Utherwise, f will not be reversible. 2 Given # input = \$ output I just works as a permutation of the input. \Rightarrow $B = \#f = (2^n)$ Compare A and B: A>> B $A = 2^2 = 2 - 2$ n=1 B = (2)! = 2. n=k $A = (2^{k})^{2^{k}} = 2^{k} \cdot 2^{k} \cdot 2^{k}$

$$\beta = (2^{k}) = 2^{k} \cdot (2^{k} - 1) \cdot (2^{k} - 2) - \cdots = 1$$

3 C= how many reversible bookan functions are there that can map a (ht)-bit input to a (ht)-bit output Or in other words. # (n+1) bit reversible boolean functions.

$$C = [2^{n+1})!$$

Compare A and C n=1 $A = 2^{2} = 2 \cdot 2$ $C = (4)! = 4 \cdot 3 \cdot 2 \cdot 1$ n=k $A = (2^{k})^{2^{k}} = 2^{k} \cdot 2^{k} \cdot \cdots \cdot 2^{k}$ $C = (2^{k+1})! = 2^{k+1} (2^{k+1} - 1) \cdots \cdot 2^{k} + 1) \cdot 2^{k} \cdots 1$ 2^{k} 2^{k} 2^{k}



Some common tricks to reduce of optim qubits Cancilla gubits
Example: f = AND (X1, X2, X3)
imput
$$\begin{cases} x_2 & x_3 \\ x_3 & x_1 \land X_2 & garbage \\ x_1 \land X_2 \land X_3 = f & output \end{cases}$$

Idea: D Divide and impure
B clean up geologie frequently
Key: we can not clift ofly reuse the garbage qubits
because of the emanglement, and supeposition
 $\sqrt{(X, X_2 X_3 > | 00 > \cdots > (X, X_2 X_3 > | X, \Lambda X_2 > | 1)}$
It seems that we can simply measure I and set it
to lo> and reuse it for follow-up computation.
It work like there is no garage qubits
 $\sqrt{(X, X_2 X_3 > | 00 > \cdots > (X, X_2 X_3 > | X, \Lambda X_2 > | 1)}$
 $\sqrt{(X, X_2 X_3 > | 00 > \cdots > (X, X_2 X_3 > | X, \Lambda X_2 > | 1)}$
The view to is a special superposition exectly
 $\sqrt{(X, X_2 X_3 > | 00 > \cdots > (X, X_2 X_3 > | 1)}$
 $\sqrt{(X, X_2 X_3 > | 00 > \cdots > (X, X_2 X_3 > | 1)}$
 $\sqrt{(X, X_2 X_3 > | 00 > \cdots > (X, X_2 X_3 > | 1)}$
 $\sqrt{(X, X_2 X_3 > | 00 > \cdots > (X, X_2 X_3 > | 1)}$
 $\sqrt{(X, X_2 X_3 > | 00 > \cdots > (X, X_2 X_3 > | 1)}$
 $\sqrt{(X, X_2 X_3 > | 00 > \cdots > (X, X_2 X_3 > | 1)}$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow (X, X_2 X_3 > | 1)$
 $\sqrt{(X, X_2 X_3 > | 0)} \rightarrow ($







3) We can use of to implement
$$0^{\pm}_{\pm}$$
. Accutally, we
can take of as a special case of of
 $1\times 2^{\pm}_{\pm}$ 0_{\pm}_{\pm} $1\times 2^{\pm}_{\pm}$ $1\times$

Example: SHU the AND example

Rocall O_{4} : $|X_1X_2\rangle$ $|b\rangle$ |b| |b| |b| |b| $|x_1X_2\rangle$



It seems that we have changed the unitrol bits.

Physe kickback 14) - P Take both 1A > 1B > i'n 2 buch's 12, 22> CNUT > 18, 8, 6 22> 113) $|v \circ \rangle \rightarrow |v \circ \rangle$ 101> - 101> 110> -> 111> 111> ~> 10> 2) Take both (A> IB> in X back's 1×, ×2> CNOTS 1×, CHXe, X2> |++> -> |++> $|-+\rangle = |-+\rangle$ $|+-\rangle - |--\rangle$ $1 - - > \rightarrow 1 + - >$ A easy way to remember these rules is to take (1->->)



Define
$$x \cdot y = x_i y_i \oplus x_2 y_2 \oplus \dots \oplus x_n y_n$$

For example $x = 00$
 $y_i^2 = 01 \Rightarrow x \cdot y = 1$
 $y_i^{(n)} = x_i \cdot y = 1$
 $y_i^{(n)} = y_i \cdot y_i = 1$
 $y_i^{$

all O.



The phase for different (x> could disturb the orignial interference pattern.